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FHHITRET 133971 1 EAqe 91T 37K 37T TIeT7 BT
(i)  FTFH-ITH34 797 8 | Gt Fe7 A & |
(i) I8 Fo7-97 g @Sl § [ 2
GUS-F : GHID 37T
GUS-G ; YRAT T [T
(iii) 3G F97-Y7 § 20 TgEFHT JHR & F97 8 | §9% 597 1 35 & |
(iv) 3G Jo7-97 § 4 TG-3T0T FHR-1 & 97 & | I J97 3 371 71 8 | 37 371 & I

60 @80 s3] 4 for@ 7 =R |

(v) 3G IH-Y7 T 6 Tg-IT0T FHR-1I1 & 597 & | e 397 4 371 7 8 | §7 Jo71 & I
80 @100 =51 7 forgd s =ifzw /

(vi) 3G FT-T7 H 4 -3 JHR & F97 8 | I 97 6 37H #7 8 | 57 Fo41 & I
100 @ 150 557 4 for@ 717 =713 |

(vii) I 97 & T 977 3 IR 0 g1y for@ i =R |

(viii) §q& AR, &1 § I givanfera whameren & forg fam @er arafam 37 3menia 7ot
& T T T 377 597 16971 T & | §7 Fo1 & IR a7 GISaIea qiemrest & 1o |

(ix) Fo7-97 § BI3 G fasheq 787 8 | TeT F& 5941 4 Al [T &7 Jrae 1597 727
8 | 57 551 7 @ e U &1 F37 HT I foRET 1T |

g —<h
(@Y Sreiee)

1. AW S, siEd 399 Sgfa (APC) &1 96 0.8 & T9T TS 3T T 4,000 HUE 7, @
EEER SR S BT | (w& forpea g frar o <t gfd =i 1) 1
Torheq
(A) 100 B) 200
(©) 500 (D) 800

2. TH oS, foret sreferawen &1 =@ I T 50 HUS & FUMHS Tod W Y
(intercept) SFTT & | 1T H, 3T H ghg 1 20% F=d % &9 H @I I3 |

Ik FeH oh 3Tetreh B, eI ok (K) o G <hl T8 ot | 1
foarpe
A 2 B) 5
(C) 10 (D) (o) 3
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General Instructions :

Read
()
(i1)

the following instructions carefully and follow them :
This question paper contains 34 questions. All questions are compulsory.
This question paper contains two sections :
Section — A : Macro Economics
Section — B : Indian Economic Development

(i1i) This Question paper contains 20 Multiple Choice type questions. Each

question carries 1 mark.

(tv)  This Question paper contains 4 Short Answer Type-I questions. Each

(v)

question carries 3 marks. Answer these questions in 60 to 80 words.

This Question paper contains 6 Short Answer Type-II questions. Each
question carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This Question paper contains 4 Long Answer type questions. FEach

question carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.
(viir) In addition to this, NOTE that a separate question has been prouvided for

Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired
candidates only.

(ix)  There ts no overall choice in the question paper. However, an internal

choice has been provided in few questions. Only one of the choices in such
questions has to be attempted.

SECTION - A
(Macro Economics)

1. Suppose, the value of Average Propensity to Consume (APC) is 0.8 and
National Income is ¥ 4,000 crores, the value of saving would be ¥
crores. (Choose the correct option to fill up the blank) 1
Options :
(A) 100 B) 200
(C) 500 (D) 800

2. Suppose, the saving curve of an economy makes an intercept at a negative
value of ¥ 50 crores. In the economy, 20% of an increase in income is
saved.
In the light of above context, identify the value of investment multiplier (K). 1
Options :
A 2 B) 5
) 10 (D) oo (infinite)
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3. dforfcues dehi & e H, Fefafaa e s o wem v & 2 1
(T} ferehed T =RA L 1)
@) i o foTE STHTE GGTRAT Bie & |
AD) o FiFaEd H§ 91E §oh 8 ¢ |
I1D) o 319 S=dT & STHT Eehr hid 2 |
AV) & I e Seh hl 3§ ST Seh R hid @ |

ferpey
A) (D, A= 11D B) (II) = (1)
©) @O3dn O O3 AV)
4. IR TP T 600 FE 1 A AT HET & G T 450 FHUS HI A AT Ll 8,
TYFAMREIEH I GAL_ HUSH BTl | 1
(A) 150, gmT (B) 150, RN
(C) 1,050, 9T D) 1,050, 3TlerRm
5.  ehicH-1 9 hiem-11 § feu e uei & Tyg # & 9l 30 1 9= 1
HieH-1 Hiem-11
(a) TR-F A () TFIHTH
() I T (i) g% @R (Free-rider)

(c) dSirma == (i) kU
(d) Fsft aege (iv)  wkiggreHeh Jehhd

ﬁw:
A) (@-@ B) () — @)
©) (o) — (@ii) D) (d)—@Gv)
6. frfcRad et 1 e 31eE W 1

HUT 1 : Jafera fordt fafme o gomeft fr 7 T fafmr o yorett <61 v Tame 2 |
HUT 2 : Tefera fordt fafee ot yomreft + ‘gsfe worelt’ & wu § ot SIS # |
feu U el % 3mreties H, frferfiga O § wE fashen w1 =a Fife

(A) HYT 1T E N HYT 2 IR |

(B) %9 1IN FHYT 2T R |

(C) #1323 g2 |

(D) % 1 37 2 ST FE & |
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[ ] o o
In the context of the Commercial Banks, which of the following
statements are correct ? (Choose the correct option) 1
(I) Deposits received are liabilities for Commercial Banks.
(II) They are creator of credit in the economy.
(IIT) They accept deposits from general public.
(IV) They accept deposits on behalf of Reserve Bank of India.

Options :
A) @, dI) and (III) (B) (I) and (III)
(©) @ and dI) D) @ and dV)

4. If a country exports goods worth of ¥ 600 crores and imports goods worth
of ¥ 450 crores, the value of Balance of Trade of the country would be

of ¥ crores. 1
(A) deficit, 150 (B) surplus, 150
(C) deficit, 1,050 (D) surplus, 1,050

5.  From the set of terms given in Column-I and Column-II, choose the

correct pair : 1
Column-I Column-II
(a) Non-tax Revenue 1) Goods and Services Tax
(b) Indirect Tax (11) Free-rider
(¢)  Capital expenditure (111) Borrowings
(d) Private goods (iv)  Rivalrous in nature
Options :
A @-@0 B) () — @G
©) (o) — (i) D) @) -@Gv)
6. Read the following statements carefully : 1

Statement-1 : Managed floating exchange rate system is an
amalgamation of fixed and flexible exchange rate system.

Statement-2 : Managed floating exchange rate system is also known as
‘hybrid system’.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.
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7. hic-1 9 hiem-11 8 < 7€ uel § o 9l I 1 95+ I ; 1
-1 HieH-11
(a) @ d A= Q) FgrEET i
(b)  ITERMATT T A {) @y
() Tuftaam (i) e gw S
TRt ek SATaTE
(d)  HHETRT T g3TTasT (iv) Ut WA
ey

A (@-0 B) (b) - @)
©) (o) — (i) D) (D) -G

8. TraforRaa wumi-arfimpem (A) 9 10T (R) 1 3emq &t | i fou ¢ fosheat o @ =&t
Torehea o1 =RF L 1
IRRYT (A) : TS SE o TEU &, FFehT IUI ST g amgfeeh €9 | T

ST |

%I (R) : HTE(h U STesehd Td NTg-gTceeh Jehfd <hl Bl & |

Ty

(A) AR (A) F HRUT (R) THT TcF & aUT RO (R), IRTHUT (A) ht T&t =3
2|

(B) AR (A) T HRU (R) Al T 7, bt Rl (R), ANHAT (A) St T&t
ST T1 LT 3 |

(C) TRFYA (A) T B, i Rl (R) I 2 |

(D) AR (A) 3TEH B, AT HROT (R) TA R |

9. T Tgei o =] @Td oHe o Hed H, frforRaa 8 & sraer wem ot veam i - 1
(TE fereped =1 == )
forshem
(A) g3 I Ha13Ti o Tatd 1 shfee wei o &0 3 oot o S R |
(B) oq3il 3T Qa3 o ST bl e 7ei o &9 1 ot fohal ST 2 |
(C) ¥t Fieror ST 2fere 7l o 9 1 ot fohu ST |
(D) Tt gxarauor grferEt Sfere 7el o &9 1 oot H S # |
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[ ] o o
7. From the items given in Column-I and Column-II, choose the correct pair. 1
Column-I Column-II
(a) Income from Property 6] Old age pension

(b) Income from Entrepreneurship (ii) Profit

(¢) Mixed Income (i) Rent free accommodation
from an employer
(d) Compensation of Employees (iv)  Interest from capital
Options :
A @-0 B) (b) - a1
©) (o) — (i) D) @) —-@Gv)

8. Read the following statements : Assertion (A) and Reason (R). Choose the
correct option from those given below : 1

Assertion (A) : Public goods are those goods that are collectively
consumed by the public.

Reason (R): Public goods are excludable and rivalrous in nature.
Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

9. In the context of Current Account transactions of Balance of Payment,

identify the incorrect statement from the following : 1
(Choose the correct option)

Options :

(A) Export of goods and services are recorded as credit items.

(B) Import of goods and services are recorded as debit items.

(C) All transfer payments are recorded as debit items.

(D) All transfer receipts are recorded as debit items.
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10. “SHM (Teh BHE) 7 30T shictst shl H1F o foT T 80,000 T k0T fofarm & | 98 a8
% T UTE F1¢ FU T TR HW hHl AT o1 @ 2, & 97 10 99 i rafy §

genra |7

IYARH Tl o SR T YT o ey sl <hi wg=m =i | @& fopeg I=RAR) 1
foree
Q) fafm % mem (B) @ HIHE
() TAfiTd YA 1 A D) T
11. (a) T AR W S Jed Ira (NVA ) o Je hl T0HT L : 3
. e afsr
@ S ¥)
Q) | i sty 3,740
(i) | W@k™T (unsold stock) ¥ Jfg 600
(iii) | feshr 10,625
(iv) | = O 1 2,625
(v) | o SR ot 3ae 500
(vi) | 39cqH 400
(vil) | 3TIcae 1,200
YT

(b) Teremii @ 9w g @M 3 (NFIA) qen 3¢ Fafa (X — M) 3 0et 37k w98 1 | 3

12, “ft 3 e et wgftr 1 &t € 17
3T ICTET G, UL Y T HHL YT TS . | 3

13. “TTA % S92 H, THN - Aew-oh TRae § GUR ¢ Tgyer § HHft i o forg e o

T 75 T g1 o 0T & forg e srafed fran g |7

T FHR 2 hl Teh(d o IHeh Ie34 hl TgaH & | 4
14. AW oifor, Tt sreferasen o grerfies w1 % 500 7, Afe sl sru 25% & | Sf

UTTE GRT G et ST TR AT %ol U (F0T) 1 STTHM T | 4
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“Irfaan (a student) borrows ¥ 80,000 to finance his college fee. He plans to
begin repaying the loan six months after his graduation, making
payments over a span of ten years.”

Based on above text, identify the indicated function of money.
(Choose the correct option) 1
Options :
(A) Medium of Exchange (B) Unit of Account
(C) Standard of Deferred Payments (D) Store of Value

11. (a) Calculate the value of Net Value Added at Factor Cost (NVAp() : 3
S. No. Particulars Amount
(In T crore)
1) Operating Surplus 3,740
(1) | Increase in unsold stock 600
(111) | Sales 10,625
(1v) | Purchase of raw materials 2,625
W) Consumption of fixed capital 500
(vi) | Subsidies 400
(vi1) | Indirect taxes 1,200
OR
(b) Distinguish between Net Factor Income from Abroad (NFIA) and Net
Exports (X —M). 3
12. “All consumption goods are durable in nature.”
Defend or refute the given statement with the help of a suitable example. 3
13. “In the recent Budget the Government allocated funds for construction of
new metro lines in smart cities to improve public transportation and
reduce pollution.”
Identify the nature of government expenditure & its objective. 4
14. Suppose in an economy, primary deposits are T 500, if the Reserve Ratio is
25%. Estimate the total deposits created and the total lending by the
banking system. 4
58/1/3 ~ 9|Page @@.EI P.T.O.
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15. (a) U FAIEEH; C =200 + 0.75 Y (& C = 39 =57 g, a1 Y = T 311
2) 4
e =3 4,000 W ? |
FrfaRga i TR -
(i) 3T 1 G &R
(i) 3T % e T 9T Hed TR -
A
(b) TcATIeTd srrd o Tearterd e 4 3tferes 8 <l ffg A aaee aa hr e st | 4

16. Tferiaa mer 1 SgEE STeEE W

S G 9 IUURET A & T 4 Hal Foh, TR T @ a5get h Geu (retail)
il w1 b e o fore fomra awt o 8 wfsra wen 331w 2 | 38 et fob, Tpr
e Ty Y 31k gfg @ wwsian feru form gerehifa i frior & w7 | Fee 2023 §
U HEhIfd 5.55% o fiF H1E & IS0 &R R g9 T8, S foh @ qerert 61 sedt
STl o R 8 | 3R 2023 H GErhifer § firrae 3wft oft, 519 918 6.83% W Ugd 78
ot | Wﬂl{ﬁﬁﬁ Uk (wholesale) 9 gl (retail) Wﬁmaﬁﬁﬁwﬁrr@ﬁ%@
5 TR A 140 ¢ Ge=1 T g T fop & |

TR A g, g2 Fad, R-a1Emdt % Iad, @ 3¢ o3 @ e & fafd w
wiferaier o0 e & 1 ey 3mafd B Sicenfed e o forg den gew gfg @ Feha s
oTT TR 7 forete 9 gete W 3111 Yoo M pr e |

IYAH T F | [ o TR 9 Feferiad woai o 3w e :

(a) TR g TTa 9C gt Tt Shesi <t wen srard | 1

(b) TR MYt T MewaTfed H o gt H it A & forw awepr gr 331w e foneddf &1
Hisra IUTT T Sooi i | 2
(c) HErehIf i Fafa e o fore srh foreft weh Hifieh Sumr ohi s ok | 3

17. (a) () Hoegaed Tt gro T 1 1 STehel Hd T9 STUATS ST aTett fhi a1
GraeTa ot SEn e | 3

(i) “I=F Fhel TIe] IS (GDP) 1 37 Tea rderaey § gwgani i ufd Ak
FfI-SuTsudT BT & 1”7 3

IUXITH U T 38 € o AT o STV oh Feheh oh &Y H G 37eraT e i |

AYAT

(b) () SUIH IS GRI, Tieh = 9 Y18 = H 37 T . | 3

(i) T I (NNPp) 1 FIHE T 61 3 farfer o AR A1 6 Heohi
T AT R | 3
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15. (a) In an economy ; C =200+ 0.75Y (where C is consumption expenditure
and Y is National Income). Investment expenditure is ¥ 4,000 Crore. 4
Calculate the following :
(1) Equilibrium level of income.
(11) Total consumption expenditure at equilibrium income level.

OR
(b) Explain the adjustment mechanism in case ex-ante savings are

greater than ex-ante investments. 4

16. Read the following text carefully :
Union Food and Consumer Affairs Minister said that the Central
Government has taken many proactive steps in the past few years to
control retail prices of food items. He said that the government aims to
keep inflation under control without compromising the country’s economic
growth. Retail inflation inched up to a three-month high of 5.55% in
November 2023 driven by higher food prices. Inflation has been declining
since August 2023, when it touched 6.83%. 140 new price monitoring
centres had been set up by the Central Government to keep a close watch
on wholesale and retail prices of essential commodities.
The Government has banned the export of many food items like wheat, broken
rice, non-basmati white rice, onions etc. It has also reduced import duties on
edible oils and pulses to boost domestic supply and control price rise.
On the basis of the given text and common understanding, answer the
following questions :
(a) Mention the number of new price monitoring centres set up by

government. 1

(b) State any two proactive measures taken by government to boost

domestic supply and reduction in prices. 2
(¢) Explain any one monetary measure used to control inflation. 3
17. (a) (1) Explain any two precautions to be adopted while estimating
National Income by Value-added method. 3
(11) “Higher Gross Domestic Product (GDP) always means higher
per capita availability of goods in the economy.” 3
Defend or refute the given statement as the index of welfare of
the people of that country.
OR
(b) (1) Distinguish between Stock and flow variables, using suitable
examples. 3
(i) Explain the components of ‘Profit’ as per Income Method of
estimating National Income (NNPge). 3
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TqUg-T
(vt afelen foreeran)
18. I TCIHIIcTeh SRISFTRI &, S AT o Teh ATehtl & GEL ARl § JH o 0T 39 it & |

& 178 R o 3R TSR U & SRR hl qemH hifde | (F fesrcg =R ) 1
forepea :

A4) Wéﬂwﬁ B) TG ST
(C) eft srIsm (D) =TYoITCHeh SUSATRI
19. Trafefaa semi-31firpem (A) @ %R (R) 1 eHYdes 38R & | = fou e fospedt
T 9 ge) forehed o1 = i 1

ABA (A) :  3Ih Gu ¥ yd, = g ATHTieeh ST W e e
TROTHEIEY SE A4 fashm Sehas (HDI) T8 gU Y |

%R (R) : = s A frehT® Hehdeh! (HDI) H YR o UTfehEd™ & 3T # |

ﬁTﬁ("T:

(A) 3R (A) g SR (R) THT IF & TUT SR (R), 3THAT (A) 6l Tl =
2l

(B) 3R (A) 9 RO (R) TFT HF &, ] SO (R), AR (A) i T
T T8 hLdT 2 |

(C) 3R (A) T B, Wifehd RUT (R) 3§ |

(D) 3R (A) 39 B, Afehd 0T (R) T 2 |

20. 1
— S T&_‘T‘,_, A R
30 AR Ugld i vgam L, fEd focelt owgsn & i) IdTe § wardgEh
fcreerud s fen g |
Torepeq -
(A) Tt weea ®) e sl
(C) 3mATd TER (D) AT freemaE
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SECTION -B
(Indian Economic Development)

“It is short-term unemployment occurring, as people transit between jobs.”

On the basis of given definition, identify the type of unemployment
indicated. (Choose the correct option) 1
Options :

(A) Disguised Unemployment

(B) Seasonal Unemployment

(C) Open Unemployment

(D) Frictional Unemployment

Read the following statements carefully : Assertion (A) and Reason (R).

Choose the correct option from those given below : 1

Assertion (A) : Prior to economic reforms, public investment in social
infrastructure by China resulted in better Human Development
Indicators (HDI).

Reason (R) : China is ahead of India and Pakistan on many Human
Development Indicators (HDI).

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

Study the following image carefully : 1

with domestic production.

Options :
(A) Export Promotion (B) Export Substitution
(C) Import Proliferation (D) Import Substitution
58/1/3 ~ 13|Page Elqg,l!l P.T.O.
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e : TrfeiRaa s e gideem wdiariEt o fore s sen 20 F A W R |
38 =R Hifd S Feifa e g, S 3eva awgan & =i 3TTe H

eh 3TATTAd TEq3TT R YT bl 1 HETR | 1
ﬁw:
(A) Tt gagq B) frama ufeeamm
(C) 3T i (D) T JER
21. hieE-1 ¥ feu mu f=ferfiaa uel w1 swiem-11 8 feu mu 319 & fiem ot 1
HiaH-1 HiaH-11
(@) g e Tehas (i) I 1 IR
(b) SHYIETRIT Gehdeh (i) gy Eer
(c) formm amfele & (i) afefees smfees nfafafr = gem
(d) R STt (iv) amgfes et
Terepey :

A (@-@ ®B) () - @)
©) (o) — (i) D) (d)-Gav)

22. freferRad hemi-31fished (A) 9 SR (R) 1 AMYEs 376939 L | A feu e femeai &
T HEl forehed o1 T R 1
A (A) : A Goft Fmior anffes wffafern # S 6 wriier <€ ¥ gfg s

2 e Tk foehe b1 Tieariad s 2 |
%R (R) : et gX fopeft Ty Y IcuTes fskan ©§ gotw =Rkl & Wi
Hefilg w2 |
forsped
(A) 3AHT (A) T SR (R) SHT G 8 a1 R (R), 31TUhyA (A) ht Tt e
2|
(B) AT (A) g HRUT (R) HI T &, Ak HRUT (R), AU (A) H Tal
ST T8 LT & |
(C) SATHYT (A) T 7, SAfehd HRUT (R) 3EA 2 |
(D) ARTRAT (A) 3T B, Wbt HIOT (R) T 2 |
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Note: The following question is for the visually impaired
candidates only, in lieu of Q. No. 20.
refers to a trade policy aimed at reducing reliance on imported

goods by encouraging domestic production. 1
Options :

(A) Export Promotion (B) Export Substitution

(C) Import Substitution (D) Import Proliferation

21. From the following terms given in Column-I, match the correct pair of

meaning given in Column-II : 1
Column-I Column-II
(a) Human Development Indicator (1) Rule of Law
(b) Demographic Indicator (1) Constitutional Protection
(¢) Special Economic Zone (11i) Generation of additional
economic activities
(d) Commune System (1v) Collective industrialisation
Options :
Q) (-0 B) (b) -G
©) () — (1) D) (@) -av)
22. Read the following statements carefully : Assertion (A) and Reason (R).
Choose the correct option from those given below : 1
Assertion (A) : Human capital formation increases the rate of
participation of population to economic activities and leads to
economic growth.

Reason (R) : Rate of participation of people refers to the percentage of
people engaged in production process of a country.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

58/1/3 ~ 15|Page ) P.T.O.



@collegebqtch.com

23. wRa ffafea # @ form anfia/afvas snfie g+ aem 7 8 2 1
(A) fs=® (BRICS) (B) ¥ (SAARC)
(C) G-20 D) G-7

24. =M 1 ¥ o BiEe 1 mfies g &5leh T | 1

(T2t ferepe gru frar o <6l gfd =61 1)

ICET
(A) H B) 3INEfes
(C) fcfim (D) femor

25.

wmmﬁﬁwawaﬁ,mﬁﬁﬁnm{ﬁﬁmﬁﬂéﬁl
faemea

A) Riw (B) TATRUM Hehe

(C) eheitehl ITfd (D) Hiwepiceh ferepm

e : frfeRaa s Faer gidaria wenfit % fore s gem 25 F R W R )

TEEH o, Frfetiad 4 & el i errof ferenrd <61 wrHiferli 4 & T T2l @ | 1
farhey

(A) STl o TR-TTORTA Gl T SHIT

(B) i ¥ Rru e So o1 3w

(C) YR M < ITFT

(D) SAfaes HARE WIS T ITAT
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23. India is NOT a member of which of the following regional/global economic
grouping ? 1
(A) BRICS (B) SAARC
(©) G-20 D) G-7
24. sector was the primary focus of the Great Leap Forward in China. 1
(Fill up the blank with correct option)
Options :
(A) Tax (B) Industrial
(C) Financial (D) Educational
25. Study the following picture : 1
Identify and select, the recent phenomenon in which demand for resources
surpasses their supply.
Options :
(A) Economic growth (B) Environmental crisis
(C) Technological advancement (D) Cultural evolution
Note : The following question is for the visually impaired
candidates only, in lieu of Q. No. 25.
Identify, which of the following is NOT one of the strategies for
Sustainable Development. 1
Options :
(A) Use of non-conventional sources of energy
(B) Use of fossil fuel for transportation
(C) Use of traditional knowledge
(D) Use of organic compost manure
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26. frefcTRad et 1 eaTYEs 1R 1
-1 : SR Sfh fafia Saaerft s o smesfenes wer 8 wehd # |
HYF-2 : HRA b AT & | i SaeTrft UsPT TSR 1 Ush THE 614 ¢ |
feu Tu et % el ¥, Frforfga § & gt faehod o1 =z Hife -
(A) HUT 1 T TN HUT 2 AR |
(B) HH 1 3FI 8 I HYT 2T R |
(C) %o 132 TAE |
(D) M 1 3R 2 T A E |

27. = feu e sier- 1 9 shiem-11 # feu T ugl & & T&t I 1 == o : 1
HicH-1 HicH-11
(i) I9eH (a) 3T I ST Gl Tt SRl <ht 3fersham T
(i) ofe = fefor (b) TPR 1956 1 a
(iii) T & (c) TS T Tl < forw ofyy
(iv) UeNig ASHET 5 39T & ) graTfoeh gfEenion § it
Y 1 SRR
forsped :
A @O-@ B) (i) - ()
(C) (i) - (c) D) @(v)—-(@)
28.  fifereh Goft 9 AE YSft ST THE W | 3
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26. Read the following statements carefully : 1
Statement-1 : Hired workers may be regular salaried workers or casual

workers.
Statement-2 : Regular salaried employment is a major source of
employment in rural areas in India.
In the light of the given statements, choose the correct option from the
following :
(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.
27. From the terms given below in Column-I and Column-II, choose the
correct pair of statements : 1
Column-I Column-II
6] Subsidies (a) Maximum quantity of goods
that can be imported
(1) Land ceiling (b) Element of IPR 1956
(i11) Small Scale Industries (c) Land to the tiller
(iv) Modernisation as a goal of (d) Change in social outlook
five year plan
Options :
A ©-(@) B) 1) - (b)
(C) (i1) - (o) D) @v)-(d)
28. Distinguish between Physical Capital and Human Capital. 3
58/1/3 ~ 19|Page Elqg.lil P.T.O.

G



@ collegebatch con

29. (a) “forta uaEfyr H Tl MiTORIT I SCHT MR |7

YRR HUA T I ST g e g ot | 3
YT
(b) el & <t ot ® wmefior e 6 et St s A e e % iR %
IO Shl ST . | 3
30. (a) WA 3Tfeqaee o IS 329 & &9 § ‘- Fdar & === & f® & dohi &1
Gferd aui L | 4
YT
(b) =T L TR, Tore TohR aeg @ e KX (GST) A FEGTT 9 JaTan T HU I Sgard
I T ST fe 2 | 4
31. (a) “ugrel &l H oy Toi- o T onTd el 8 % |- YAeRer ke ot
Grferd 21d & |7
IUH Y <1 A deh gRI THTO o | 3

(b) & &THAT I THATRT Y |
32. UIferEd™ g 3794 3R farend vt o foru 331U 71U ferereTcen sherl 1 9ol & | 4

33. fr=faiRaa mer o1 ermgdes sreE W

HY-TET F TTHOT ITH R | JrHor forehr <6 fofe fferat & HeeEqu B S ® E 19

IRA § Trior & H ST areft 7R TR o1 TETET SRqd N & | A 3T I P,

IT-31emid A goredt & 2t e fofa o ool STeRtor S8 deh-ieh! Te=R o 8,

ST IeATGERAT @ HHIEE S8 H gfg HLd @ |

IYfd SFET P! GAafeed Hich 9 Yo SR 8 Huh TTUT ek o FHhi 6 oL

3fra gowr fufor gffeaa e 8 qen arufes feifort w ff off w0 @ € | @ seam

IO &R H USSR g9 H @06Rd ®9 8 IAEH JH & 8 | R 4 RKVY-

RAFTAAR, $fY S/a6@1 %19 a1 Agri-SURE 37ife Tt shrisret % aresm & Hfy

T3t o et 3 fore fiaw fifa = focfrar e o1 wewh R 2 |

IR Te & HHT [ o 3R R FeforRad weai & 3w e

(a) 3oor@ hi foh T TR BV -TeéaT FN &= o 31 areft TR =i o1 Tmmam
A L B | 4

(b) R H HiY W3l 9 IAMET Rl THA ¢ H ThR Al yfirest T feoqft | 2
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29. (a) “Cooperatives have received a setback during the recent past.”

Justify the given statement with valid explanation. 3
OR
(b) Explain the reasons behind less number of regular salaried
employees in rural areas as compared to urban areas. 3

30. (a) Describe briefly a rationale behind choosing ‘Self-reliance’ as a

planning objective for the Indian economy. 4
OR
(b) Explain how, Goods and Services Tax (GST) has simplified the
multiplicity of taxes on goods and services. 4

31. (a) “In the mountainous regions, mini-hydel plants prove to be cost
effective as well as eco-friendly.”

Justify above statement with valid arguments. 3
(b) Define Carrying Capacity. 1

32. Describe the path of developmental initiatives taken by Pakistan for its
economic development. 4

33. Read the following text carefully :

Agro-startups and rural enterprises are becoming increasingly vital for
rural development in India. They address the critical challenges faced by
rural sector in India. These ventures bring in technological innovations
such as precision farming, IT-based monitoring system and data-driven
decision making tools that enhance productivity and resource efficiency.
By streamlining supply chains and creating direct market linkages, they
ensure better pricing for farmers and reduce dependency on traditional
intermediaries. Such enterprises contribute actively to employment
generation in the rural areas. The government has demonstrated a
continuous policy and financial support for agri-startups and
entrepreneurs through various programs like RKVY-RAFTAAR, the Agri-
infrastructure fund and Agri-SURE.

On the basis of given text and common understanding, answer the
following questions :

(a) Explain, how agro-startups address the critical challenges faced by

the agricultural sector. 4
(b) Comment on the role of government in supporting agro-startups and
entrepreneurs in India. 2
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34. (a) T=I SR GRI IeciRad i fob, Freaferfaa e g g sran s 2x3=6
() SNufTafmes Fet & iad, ST FoT SThe h TR o RO HY & |
et
(i) Tervs sHTOR Hire 1 S fave samaR # fem st sraen wnfid s R |
(iii) & STEHTAT & G171 e wra # e o1 @ @& o |
I
(b) () JIRTATH : 3
(1) S 9 ITTYeh IFHh
(2) Teuefta 3 sgueia =R
(i) “oTe JEWT <] oIS I & foreg Ueh TREAT hard <hl STTEwIHT B |7 3
IURE U % 3Telish H, 39 foun § TR g 31T T hent i o @
Fugd |
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34. (a) Giving valid reasons, state whether the following statements are
true or false. 2x3=6
(1) There was growth in agricultural sector due to expansion of
aggregate area under cultivation, during the colonial era.
(11) The objective of World Trade Organisation (WTO) is to establish
a rule based regime, in the world trade.
(iii) Economic growth with regional disparity was the main goal of
planning in India.
OR
(b) (@) Distinguish between : 3
(1) Tariff and non-tariff barriers
(2) Bilateral and multilateral trade
(11) “Small-Scale Industries require a shield against large scale
industries.” 3
In the light of given statement, elaborate the steps initiated by
the government in this direction.
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